Why one cannot estimate the response
gradient in the X1 direction from the
"marginal” data (i.e. by "collapsing over" X2) ..
and vice versa

42 44 46 48 50 52 54 56 58 10 20 30 40 50 60 70 &0 90
® & & & & & & & o ® & & o

®| & & ¢ & & & ¢ o o (o ® ® o ®
g2 74 76 73 80 82 84 86 83 90 (82 38 g6 83 90 (88
®| & & & & & & & & o | O P ® & o ®
74 66 63 YO0 F2 T4 T6 7§ 80 82 |74 78 76 78 80 73
®| & & & & & & & & o |® P ® & & o il
66( 56 60 62 64 66 63 70 72 T4 |66 69 66 68 7T0 72 69
®| ¢ & & & & & ¢ & o | @ ® & o o R
X2 58| S0 52 54 56 58 60 62 64 66 (58 59 56 58 60 62 59
& ® o ® ¢ ® & o DR @ & ® o & ® o &
S0 42 44 46 48 50 52 54 56 53 (50 50 46 43 50 52 54 50
L & & @ ® ¢ @ & & & e
42| 3¢ 36 33 40 42 44 46 4§ 50 |42 41 36 40 42 44 41
34| 26 28 30 32 34 36 38 40 42 [34 3 26 30 32 34 31
26 18 20 22 24 26 28 30 32 34 (26 22 20 22 24 22
16 10 12 14 16 18 20 22 24 26 (18 1210 12 14 12

® & & & & & & o o ® & & o o

42 44 46 48 50 52 54 56 538 10 20 30 40 50 60 70 &0 90

10 20 30 40 50 60 70 &0 90 10 20 30 40 50 60 70 &0 90

® & & o o ® & & o

L ® & (o ® ® &
89 88 90 |89 90 90 (90
& ® ¢ @ & <l @
79 78 80 79 a0 a0 a0
il ® & o il @ il il
70 68 70 72 70 70 70 70
@ ® & ¢ > > @ ]
60 58 60 62 60 60 60 60
& o ® o & 9 & @
50 48 50 52 50 50 50 50
40 38 40 42 40 40 40 40
30 28 30 32 30 30 30 30
21 20 22 21 20 20 20
110 12 11 10 10 10

® & & & o ® & & & ¢

10 20 30 40 50 60 70 &0 90 10 20 30 40 50 60 70 &0 90



X2

82
74
66
58
50

&
42
34
26

18

@

Confounding ...continued
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X'l Average gradient over X1 does not
( equal gradient over X1 averages
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